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C<para><link olinkend="ch08" preference="0">hapter <xref olinkend="ch08" label="8"><inst>8</inst></xref></link> introduced the concept of insurance, an arrangement that allows risk-averse people to reduce or eliminate the risks they face, with a primary focus on health insurance. Consumers buy insurance to replace the uncertainty of a large loss or major expenditure with the more certain prospect of regular premiums. In most countries, profit-seeking firms supply various types of insurance, although the provision of health insurance varies from country to country. In an idealized market, the insurance premium (as a percentage of the potential loss) will approach the probability of the event occurring.</para>
<para>In previous chapters, we concentrated on the impact of insurance on individuals. In this chapter, we focus on the insurance market and the behaviors of firms within that market. Within the context of the employer-provided health insurance common in the United States, we establish who pays for health insurance. We continue with an examination of employer-provided insurance and job mobility. We then look at the traditional community-rated health insurance (where individuals or groups all pay the same premium) and show how that market has changed, and we follow with an analysis of the uninsured. We finish the chapter by examining the impact of the Affordable Care Act (ACA) and its mandated coverage on the level and percentage of those who are uninsured.</para></section>
<section id="ch11lev1bm" role="bm"><title id="ch11lev1bm.title"/><section id="ch11lev1sec1"><title id="ch11lev1sec1.title">Loading Costs and the Behavior of Insurance Firms</title>
<para>Consumers can improve their well-being through insurance by sacrificing a (relatively) small but certain premium to insure against the probability of a considerably larger loss. It is important now to demonstrate how within competitive markets the policies will be offered to specific groups and why, in fact, some groups may find it difficult to get insurance at all.</para>
<para>We have referred to the model of a competitive industry, in which the firms will compete to where economic profits become zero, or normal. With higher (lower) profits, firms will enter (leave) the market. Only when profits are zero, or normal, will entry and exit cease. In this model, the insurance carriers collect money during the year and pay some of it out. In good years, carriers pay out less than collected; in bad years, they pay out more. Economic analysis suggests that the good (and bad) years will be random. Systematically good (bad) years suggest excess profits (losses), and the probability of entry into (exit from) the industry by other firms.</para>
<para>We also have previously shown how moral hazard can lead firms to offer certain types of coverage and not others. In particular, firms have often shown themselves to be reluctant to cover conditions accompanied by price-elastic demands for services.</para>
<section id="ch11lev2sec1"><title id="ch11lev2sec1.title">Impacts of Loading Costs</title>
<para>Insurance firms incur costs of doing business that are added to the claims payouts. These loading costs are largely related to the numbers and types of customers and claims processed. Even in perfect competition, these costs must be passed on to consumers, or else the insurers will not be able to cover all costs and will be forced to leave the market. The incidence of these costs suggests that insurers will shy away from covering events that are almost certain to occur, or those that seldom occur.</para>
<para>Consider consumers who behave as though they have a utility of wealth (<emphasis>W</emphasis>) function exhibiting diminishing marginal utility of wealth. <link linkend="fg11_00100" preference="1" type="forward">Figure <xref linkend="fg11_00100" label="11-1A"><inst>11-1A</inst></xref></link> relates total utility to total wealth and <link linkend="fg11_00100" preference="0" type="forward">Figure <xref linkend="fg11_00100" label="11-1B"><inst>11-1B</inst></xref></link> looks at corresponding marginal gains and marginal costs related to various actions. In <link linkend="fg11_00100" preference="0" type="forward">Figure <xref linkend="fg11_00100" label="11-1A"><inst>11-1A</inst></xref></link>, Sara has $20,000 in wealth yielding utility at point <emphasis>A,</emphasis> with various possibilities of losses up to $10,000, or point <emphasis>B.</emphasis> The amount Sara would be willing to pay over the actuarially fair amount (also interpreted as Sara’s consumer surplus) is shown by the horizontal distance between the expected utility line and the (curved) utility function, measured in dollars. For example, at point <emphasis>F,</emphasis> this horizontal distance is <emphasis>FG.</emphasis> On inspection we note that the horizontal distance between the expected utility line and the utility function is zero if the event never occurs (i.e., if we are at point <emphasis>A</emphasis>). It increases up to some point as we move in a southwest direction (with increased probability of illness) and then decreases to zero, as the illness becomes more certain, toward point <emphasis>B.</emphasis></para>
<para>Because insurance is taken against risk, as the probability of the uncertain event approaches either 0 or 1, insurance becomes less desirable. Near point <emphasis>A,</emphasis> the expected loss—that is, the probability of the event—multiplied by the loss if the event occurs, is not large enough for Sara to bother to insure. This is noted as point <emphasis>A</emphasis> in <link linkend="fg11_00100" preference="0" type="backward">Figure <xref linkend="fg11_00100" label="11-1B"><inst>11-1B</inst></xref></link>, the lower diagram, where dollars replace units of utility on the vertical axis. Going back to <link linkend="fg11_00100" preference="0" type="backward">Figure <xref linkend="fg11_00100" label="11-1A"><inst>11-1A</inst></xref></link>, at point <emphasis>B</emphasis>—because the event is almost certain—Sara might as well set the money aside (self-insure) and avoid the trouble of dealing with the insurer. The corresponding point on <link linkend="fg11_00100" preference="0" type="backward">Figure <xref linkend="fg11_00100" label="11-1B"><inst>11-1B</inst></xref></link> is <emphasis>B´</emphasis>.</para></section>
<section id="ch11lev2sec2"><title id="ch11lev2sec2.title">Insurance for Heart Attacks and Hangnails</title>
<para>In comparing types of losses, for any probability of illness, the larger the expected loss, the larger the gain from the insurance. We see this in <link linkend="fg11_00100" preference="0" type="backward">Figure <xref linkend="fg11_00100" label="11-1A"><inst>11-1A</inst></xref></link> by comparing the distances between the expected utility line and the utility curve for a small loss (line segment <emphasis>EA</emphasis>) and for a large loss (line segment <emphasis>BA</emphasis>). Segment <emphasis>EA</emphasis> shows a small distance; segment <emphasis>BA,</emphasis> a larger one. Hence, if Sara has equal probabilities of a hangnail (small loss) and a heart attack (large loss), her expected gain from heart attack coverage will exceed the expected gain for hangnail coverage.</para>
<para>Consider now the insurers’ decisions in providing insurance. If the event is almost certain, the insurers’ costs of administering the policy may exceed the benefits to the consumers.  </para><para>In <link linkend="fg11_00100" preference="0" type="backward">Figure <xref linkend="fg11_00100" label="11-1B"><inst>11-1B</inst></xref></link> from <emphasis>B´</emphasis> to <emphasis>C´</emphasis>, it will not pay to insure claims because the  marginal costs they must charge, to earn profits, exceed the expected consumers’ marginal benefits. Between points <emphasis>C´</emphasis> and <emphasis>D´</emphasis> expected marginal benefits exceed marginal costs. To the right of point <emphasis>D´</emphasis>, again the marginal costs exceed the expected marginal benefits, and no insurance will be provided. As the diagram is drawn, no firm could afford to offer hangnail coverage.</para></section>
<section id="ch11lev2sec3"><title id="ch11lev2sec3.title">Loading Costs and the Uninsured</title>

The forthcoming discussion models the mixed system in the United States, in these formative years following the 2010 passage of the Affordable Care Act.  The Act in large part sought to build upon the existing employer-based system by mandating that individuals purchase insurance coverage, largely within the market context described here.  We will spell out details of the Affordable Care Act in detail in Chapter 22, but we will look here at specific ACA impacts on the uninsured.

<para>The analysis of loading costs provides one avenue for addressing the problem of those who cannot get insurance. Health insurance in the United States has been largely available through participation in the labor market. Those who do not participate in the labor market, and many of those who are employed by small businesses, self-employed, or sporadically employed have found it difficult to get insurance.</para>
<para>Many explanations have been proposed, but it is apparent that the per-person costs of processing information and claims of those individuals who are outside larger organizations (either companies or unions) are higher. This results in an increase in the firms’ marginal costs relative to the consumer’s marginal benefits and can reduce or eliminate the range of services that may be offered.</para>
<para>The analysis also helps address the impacts of entry and exit in the insurance market. More efficient processing and information handling presumably will lower the premiums that must be paid by customers in the market. If we look again at <link linkend="fg11_00100" preference="0" type="backward">Figure <xref linkend="fg11_00100" label="11-1B"><inst>11-1B</inst></xref></link>, we recognize that improved information handling and processing would not only lead to lower marginal costs and hence lower prices, but also would permit firms to offer services (based on probability of occurrence) that had not previously been offered.</para>
<para>Consider points <emphasis>C´</emphasis> or <emphasis>D´</emphasis>, where the expected marginal benefit was previously just equal to (or possibly just below) the marginal cost. An insurer who lowers costs can offer coverage for types of events that previously were uncovered. Conversely, increased costs, due either to market forces or to mandated coverage, would force firms to cut back coverage on events for which they could not (due to limited consumer surplus) pass along the increased costs on to the customers.</para></section></section>
<section id="ch11lev1sec2"><title id="ch11lev1sec2.title">Employer Provision of Health Insurance: Who Pays?</title>
<para>The largest segment of the American population acquires health insurance through the workplace, and this began almost by accident in the 1940s. During World War II a booming economy coupled with wartime shortages left consumer goods in short supply, so the federal government imposed wage and price controls as anti-inflationary devices. Predictably, employers had to devise new ways to attract workers because wage controls in a full-employment economy prevented companies from raiding workers from one another. Fringe benefits were not legally considered as part of the wage package, so they could provide flexibility in worker compensation, improving the allocation of workers among sectors of the economy. One of these fringe benefits was health insurance.</para>
<para>Economists start their analyses by looking at the labor market. We assume that a lower market money wage rate leads an employer to hire more workers for two reasons: (1) the employer can substitute labor for more expensive equipment or resources; and (2) the employer can sell more products at lower prices, hence requiring more workers. Assume at the outset there is no health insurance benefit, and that the market wage is $20 per hour. Employers will hire workers as long as the incremental (marginal) revenue from the goods those workers produce exceeds the $20 per hour wage. To begin, assume that the employer employs 1,000 workers, at an equilibrium money wage of $20 per hour.</para>
<para>Suppose that workers negotiate a health insurance benefit worth $1 per hour to them, and costing exactly $1 for the employer to provide. The employer, who was previously willing to pay a wage of $20, will now be willing to pay $20 less the $1 cost of providing the benefit. Other points on the employer’s demand schedule, showing the number of workers it would hire at different wages, will also change by the $1 cost of the benefit.  This takes care of the demand side.</para>
Workers supplying their labor to the firm <para>would prefer the $1 benefit on top of the previous $20 wage, but if they were previously willing to accept a wage of $20, they will now be willing to supply their labor for $1 less, because they value the benefit at $1. In the resulting equilibrium, the net wage or total compensation (money wage  the value of the benefit) remains unchanged at $20, but the equilibrium money wage falls to $19, or by exactly the amount of the benefit. Workers accept lower money wages, and the same 1,000 workers are employed at the same net wage, $19 in money wages plus the $1 benefit. The workers are no worse off at a wage of $19 with the health insurance than at $20 without the health insurance because the insurance is worth the $1 that it cost in reduced wages. The employer earns no less profit for providing the health benefit.</para>
<para>For a more detailed analysis, consider (following Lee, 1996) a labor market with a typically downward-sloping demand for labor, <emphasis>D,</emphasis> and a typically upward-sloping supply of labor, <emphasis>S,</emphasis> as noted in <link linkend="fg11_00200" preference="1" type="forward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link>. The demand for labor is related to the marginal productivity of workers. The supply of workers reflects the wage in this industry relative to the wage in other industries. Workers will choose to work in this industry as long as the wage they can earn exceeds their opportunities in other jobs. In <link linkend="fg11_00200" preference="0" type="forward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link>, at equilibrium point <emphasis>b,</emphasis> the equilibrium wage is <emphasis>W</emphasis><subscript><inst></inst>1<inst></inst></subscript> and the equilibrium quantity of labor demanded and supplied is <emphasis>L</emphasis><subscript><inst></inst>1<inst></inst></subscript>. Suppose that workers in the market negotiate a health insurance benefit worth $<emphasis>z</emphasis>/hour at that margin, and it costs employers exactly $<emphasis>z</emphasis>/hour to provide. What happens? Employers who were previously willing to pay <emphasis>W</emphasis><subscript><inst></inst>1<inst></inst></subscript> per hour for workers will now pay <emphasis>W</emphasis><subscript><inst></inst>1<inst></inst></subscript> less $<emphasis>z.</emphasis> Other points on the demand curve will shift downward in a similar manner so the demand curve will shift downward by exactly $<emphasis>z</emphasis> to <emphasis>D</emphasis>. What will happen to the supply curve? Because the workers were willing to supply various amounts of labor at various wage rates according to the supply curve before, now that they are receiving a benefit worth $<emphasis>z</emphasis> they will offer their labor for $<emphasis>z</emphasis> less. Hence, the supply curve will shift downward by exactly $<emphasis>z</emphasis> to <emphasis>S</emphasis>.</para>
<para>What is the result? Similarly to our earlier discussion, the net wage remains the same at <emphasis>W</emphasis><subscript><inst></inst>1<inst></inst></subscript>, but the money wage falls by $<emphasis>z.</emphasis> The equilibrium wage has fallen to <emphasis>W</emphasis><subscript><inst></inst>2<inst></inst></subscript> at point <emphasis>b</emphasis> or by exactly the amount of the benefit. Workers have taken their benefits in lower money wages, and the same number of workers, <emphasis>L</emphasis><subscript><inst></inst>1<inst></inst></subscript>, is employed at the same net wage. For a real-world example of who pays, see <link linkend="ch11sb01" preference="1" type="forward">Box <xref linkend="ch11sb01" label="11-1"><inst>11-1</inst></xref></link>.</para>
<para>There are several reasons that the marginal benefits of the insurance to the employees may fall short of the employers’ marginal costs. Some contracts negotiate subsidized coverage for prescription drugs, at a cost to the employer. However, some employees are healthy and do not use prescription drugs. This benefit has no value to them.</para>
<para>In addition, recall from <link olinkend="ch08" preference="0">Chapter <xref olinkend="ch08" label="8"><inst>8</inst></xref></link> that for many types of health care, fractional coinsurance lowers the consumers’ marginal costs of treatment and leads them to buy more insured care than otherwise. As a result the benefits on average may be worth less to the workers than what they cost the employers to provide. Without moral hazard, prescription drug coverage would simply reduce the cost of drugs to the workers. However, the drug benefit might induce workers to purchase prescription shampoo or prescription cold medicine rather than less expensive over-the-counter brands.</para>
<sidebar id="ch11sb01" label="11-1" float="1" type="bx1"><inst>Box 11-1</inst>
Employers shift more health-care costs to employees – How you feel depends on where you sit.
The annual Employer Health Benefits Survey, released in September 2015, showed that the average general deductible for workers with single coverage totaled $1,077 in 2015, over three times as much as the $303 average in 2006. That deductible has climbed nearly seven times faster than wages over the past five years.

The study also found that 46 percent of workers with single coverage have a deductible of $1,000 or more. That's up from only 10 percent in 2006. Kaiser’s study did not measure family coverage deductibles, which can be more complex, but researchers say they those have grown as well.

Kaiser Family Foundation CEO Drew Altman stated, “It's funny, we used to think of $1,000 as a very high deductible, and now it’s almost commonplace,” he said. “Consumers have much more skin in the game, and that may be fine if you're healthier and don't use a lot of health care. That could be a real problem if you're chronically ill.”

How you feel depends on where you sit.  In a CNBC report, Kentucky resident Emmett Krall said the annual deductible of $3,500 on his employer-sponsored health insurance made him think about cost more than he wanted to, especially since his 10-year-old son was diagnosed with Type 1 diabetes in 2014.  Krall must pay about $200 a month to cover his son's insulin, needles and pump. “It causes an anxiety and a stress on my part, because I do get stressed about it, and I don't want him to know about it,” he said.

In contrast, college professor Bill Cantor saw his premium fall to only $95 a month for family coverage from around $300 since he switched to a high-deductible health plan a few years ago. He uses a health savings account to set aside money for expenses, and he likes how the plan has made him more aware of costs. The 53-year-old said he caught a $200 mistake on a medical bill that he might have missed if insurance had just covered the claim. “I think it would hold down insurance rates more if people thought about their spending,” said Cantor.

CNBC, Employers shifting more health-care costs to employees

http://www.cnbc.com/2015/09/24/employers-shifting-more-health-care-costs-to-employees.html, accessed February 2, 2016

Kaiser Family Foundation, Employer Health Benefits Survey, September 2015, Washington DC, http://kff.org/health-costs/report/2015-employer-health-benefits-survey/.

</source></sidebar>
<para>If the average benefit is worth $<emphasis>z</emphasis>/hour, or less to the workers than the $<emphasis>z</emphasis>/hour that it costs to provide, then the new supply of labor curve, <emphasis>S´</emphasis>´, will have fallen by less than the demand for labor (still <emphasis>D</emphasis>, reflecting what it costs to provide the benefit). Equilibrium will be at <emphasis>c</emphasis>, rather than <emphasis>b</emphasis>, the money wage will be <emphasis>W</emphasis><subscript><inst></inst>3<inst></inst></subscript>, and the total wage will be (<emphasis>W</emphasis><subscript><inst></inst>3<inst></inst></subscript>  <emphasis>z</emphasis>) rather than <emphasis>W</emphasis><subscript><inst></inst>1<inst></inst></subscript>. Employers will react to the higher gross wages (<emphasis>W</emphasis><subscript><inst></inst>3<inst></inst></subscript>  <emphasis>z</emphasis>) by reducing employment, here from <emphasis>L</emphasis><subscript><inst></inst>1<inst></inst></subscript> to <emphasis>L</emphasis><subscript><inst></inst>2<inst></inst></subscript>.</para>
<section id="ch11lev2sec4"><title id="ch11lev2sec4.title">Spousal Coverage: Who Pays?</title>
<para>Working members of the same family often have coverage from several sources. Using the logic from the previous section, an analysis derived from Mark Pauly (1997) helps to examine the issue of spousal insurance coverage. What happens if the husband has family insurance coverage where he works, and the wife chooses not to take coverage where she works? Who pays in this case? The subtleties of the analysis that occur through the labor market may surprise some readers.  Table 11-1 keeps track of the numbers.</para>
Consider a town with 10,000 adults, half men and half women.  There are 4,000 married couples, 1,000 single men and 1,000 single women.  <para>To simplify, suppose that employees can work in either the Alpha or Beta sector. Alpha employers employ only married men (4,000 employees); half of their spouses (2,000 women) do not work, and half of their spouses (2,000 women) work in the Beta sector. Half of the Beta employees are the spouses (2,000 working women) and half are single (1,000 men and 1,000 women). Thus, each sector has 4,000 workers  At the outset, assume that no health insurance is provided and the “pure” wage (<emphasis>W</emphasis><subscript><inst></inst>1<inst></inst></subscript> from <link linkend="fg11_00200" preference="0" type="backward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link>) for each employee in both the Alpha and Beta sectors is $80,000 per year. Assume that whatever health insurance is implemented, all employees of each firm receive the same take-home pay regardless of insurance cost.</para>
<para>Suppose now that the Alpha firms (employing only married men) offer to buy family coverage for their employees worth $12,000 per year. The Beta firm (half spouses; half single) offers to pay $6,000 per year per person for their employees, as long as those who elect coverage pay an additional $30 per month, or $360 per year (those who do not elect coverage receive no cash in lieu of benefits). In this situation, all Alpha workers will choose family coverage; it is a better buy because the employee is covering himself, his spouse, and his children for $12,000. As a result of market processes similar to those in <link linkend="fg11_00200" preference="0" type="backward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link>, money wages for Alpha workers fall by $12,000 to $68,000. In the Beta sector, wages per worker will fall by $3,000 to $77,000 (because half of the workers use coverage that costs $6,000 per person). All told there are 6,000 benefits policies written (because 2,000 married couples share a policy). Who pays?</para>
<itemizedlist id="ch11it01" mark="bull" spacing="normal"><listitem><para><inst>•
</inst><emphasis>Two-worker</emphasis> families covered through Alpha firms pay $15,000 for $12,000 in coverage. This occurs because wages have fallen by $12,000 in the Alpha sector (where the men work) and by $3,000 where their spouses work.  The 2,000 two-worker couples pay $6,000,000 in total more than they receive.</para></listitem>
<listitem><para><inst>•
</inst><emphasis>Single-worker</emphasis> families covered through Alpha firms pay $12,000 for $12,000 in coverage, again because wages have fallen by $12,000 in the Alpha sector.  These families pay for exactly what they receive.</para></listitem>
<listitem><para><inst>•
</inst>Single-worker households covered through Beta firms pay $3,360 (reduced wages of $3,000  $360 from the monthly payments) for $6,360 ($6,000  $360 from the monthly payments) in coverage.  The 2,000 recipients pay $6,000,000 in total less than they receive.</para></listitem>
The market has transfered income from the working spouses, who do not take the insurance, to the singles, who pay less than it costs for their insurance.  The sum of the transfers equals zero, because 2,000 workers (the dually covered spouses) are giving up something that they paid for (in terms of reduced wages), to 2,000 single workers (in Sector Beta) who are being subsidized by the foregone wages of their colleagues.</para></listitem></itemizedlist>
<para>Are the Beta firms better off because they don’t pay for the health care for half of their employees? No, because they are still paying net wage of $80,000 for the labor services that they use. Are the Alpha firms worse off because they are paying benefits for people who don’t work for them? No, they too are still paying net wage of $80,000 for the labor services that they use. The workers pay for their benefits, but some are subsidized by others!
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	Two Worker
	Alpha
	 $               15,000 
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	2000
	
	-$6,000,000

	
	Beta
	None
	None
	
	
	
	

	
	
	
	
	
	
	
	

	Single Worker
	Alpha
	 $               12,000 
	 $               12,000 
	
	2000
	
	$0 

	Single Worker
	Beta
	 $                 3,360 
	 $                 6,360 
	
	2000
	
	$6,000,000 
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<section id="ch11lev2sec5"><title id="ch11lev2sec5.title">How the Tax System Influences Health Insurance Demand</title>
Since World War II the tax treatment of health insurance has been one<para>has been of the most important factors in the increased demand for health insurance. Suppose Sara earns $1,000 per week and would like to buy health insurance. Ignoring state and local taxes, assume that she is in the 25 percent marginal tax bracket, so her take-home pay is $750 per week. Suppose further that health insurance would cost her $100 per week. Her net take-home pay would then be the take-home pay of $750 less the health insurance of $100, or $650 per week.</para>
<para>Suppose instead that Sara’s employer purchases insurance for her, again at a price of $100 per week. This fringe benefit is exempt from income taxation, as it has been since World War II. Although Sara’s total compensation is still $1,000 per week, she is taxed only on the wage portion, or $900. Her take-home pay will now be 75 percent of $900, or $675 per week. Her $25 improvement in well-being occurs because she does not pay $25 in tax on the $100 insurance benefit. The $675 in net compensation with insurance is clearly superior to the $650 net take-home pay without insurance.  The tax system has paid $25 per month of her insurance.</para>
<para>If marginal tax rates increase, consumers have incentives to increase employer health expenditures (calculate the numbers above if Sara’s income tax rate is 40 percent). Employers also benefit from this arrangement because their levels of Social Security taxes will fall. In 2016 employees pay 6.20 percent for the Social Security portion, and employers pay 6.20 percent.<footnoteref preference="1" label="1" role="generated" linkend="ch11fn01"/>  Both groups pay 1.45 percent for the Medicare portion. Because insurance is an expense to the employer rather than a wage (on which Social Security and Medicare taxes must be paid), it is exempt from Social Security and Medicare taxes. In the 1950s, federal marginal income tax rates went as high as 91 percent, and even today many people pay marginal (federal plus state) tax rates of 40 percent or more.</para>
<para>The allocative problem within the economy occurs because health expenditures have been singled out for special treatment. Consider <link linkend="fg11_00300" preference="1" type="forward">Figure <xref linkend="fg11_00300" label="11-3"><inst>11-3</inst></xref></link>. This figure shows an entire wage package consisting of the sum of total wages, <emphasis>W,</emphasis> and total insurance, <emphasis>I.</emphasis> Intercept <emphasis>M</emphasis> on the <emphasis>y</emphasis>-axis shows the amount of wages if no insurance is in the package. Similarly, intercept <emphasis>N</emphasis> on the <emphasis>x</emphasis>-axis shows the amount of insurance in the unlikely case that Sara received her entire compensation as insurance benefits. Without special tax treatment, then line <emphasis>MN</emphasis> has a 45-degree relationship to the <emphasis>x</emphasis>- and <emphasis>y</emphasis>-axes, a slope of –1.0. In other words, $1 of insurance trades for $1 in wages, and the initial allocation is at point <emphasis>A,</emphasis> with wages <emphasis>W</emphasis><subscript><inst></inst>0<inst></inst></subscript> and insurance <emphasis>I</emphasis><subscript><inst></inst>0<inst></inst></subscript>.</para>
<para>The subsidy of health insurance through the government policies lowers the price of $1 of insurance relative to $1 of wage remuneration. Suppose that the employees even recognize the subsidy and are prepared to give up some wages for an insurance subsidy. The “give back” rotates the <emphasis>x</emphasis>-intercept down to <emphasis>M´</emphasis>, but the subsidy causes the budget constraint line to rotate to point <emphasis>N´</emphasis> on the <emphasis>x</emphasis>-axis. Hence, $1 of wages actually buys (trades off for) more than $1 of insurance. <link linkend="fg11_00300" preference="0" type="backward">Figure <xref linkend="fg11_00300" label="11-3"><inst>11-3</inst></xref></link> shows that without special tax treatment, Sara consumes package <emphasis>A</emphasis> of <emphasis>I</emphasis><subscript><inst></inst>0<inst></inst></subscript> and <emphasis>W</emphasis><subscript><inst></inst>0<inst></inst></subscript>. Even if the “give back” left Sara unchanged at point <emphasis>A,</emphasis> the changed relative prices will now make it more attractive to move to a more insurance-rich package. Thus, the tax system leads Sara to choose combination <emphasis>A´</emphasis>, with more insurance at the expense of lower wages, and increased utility at <emphasis>U</emphasis><subscript><inst></inst>1<inst></inst></subscript>. Not only will Sara buy more insurance, but the tax subsidy may encourage her to insure for the kinds of low- or high-probability events (e.g., routine dental care) that might otherwise be left uninsured.</para></section>

<section id="ch11lev2sec6"><title id="ch11lev2sec6.title">Who Pays the Compensating Differentials?—Empirical Tests</title>
<para>The compensating differentials, with respect to wages and insurance, merit serious empirical investigation. Many empirical studies have associated health insurance with higher, rather than lower, wages. Because compensation (wages plus insurance) is based on productivity, employers spend considerable effort identifying workers who are better motivated, more dependable, more highly skilled, and better able to interact with clients and customers. Researchers often have had only age or schooling measures to capture productivity and other attributes of more or less productive workers have been unobserved. Because more productive workers get both higher wages and more health insurance, the substitution between wages and insurance may be swamped by the productivity effect. Despite these problems, several researchers have developed creative tests to identify the wage–insurance trade-off.</para>
<para>Gruber and Krueger (1992) examine workers’ compensation insurance, and Gruber (1994) looks at mandated maternity benefits coverage. Both studies confirm the existence of “group specific” average wage adjustments. That is, those groups that were paid more in benefits received lower wages.</para>
<para>Jensen and Morrisey (2001) use 1994 and 1998 data on wages, health insurance coverage, demographic characteristics, and health status measures for workers and their spouses from the Health and Retirement Survey (HRS) to examine the wage-coverage tradeoff for workers born between 1931 and 1941. <para>They find evidence of compensating differentials for older workers. Other things equal, those workers with health insurance had annual wages about $6,300 lower than those without. Since annual family health insurance coverage provided through an employer often costs $6,000 to $7,000 per year, the evidence suggests that workers do pay for their health insurance through lower wages.</para>
<para>Bhattacharya and Bundorf (2005) look for differentials in the context of obesity. They find that the incremental health care costs associated with obesity are passed on to obese workers with employer-sponsored health insurance in the form of lower cash wages. In their study obese workers in firms <emphasis>with</emphasis> employer-sponsored insurance received lower wages, while those <emphasis>without</emphasis> employer-sponsored coverage, who had individual coverage, or no coverage, did not.</para>
<para>Adams (2007) examines the impacts of the 1993 New York imposition of pure community rating on firms in the small group market. Community rating prevents carriers from charging different premiums based on age. If smaller firms had been cutting wages of older workers prior to pure community rating to offset their higher health care costs, then one would have expected the reform to lead to higher relative wages for older workers at these firms. The reform did increase the relative wages for older workers, both in relation to older workers in other states and in relation to older workers at large firms within the state.</para>
<para>Emanuel and Fuchs (2008) sum up the tradeoff between wages and premiums as “not a point merely of economic theory but of historical fact.” Since the late 1970s insurance premiums increased by 300 percent (a factor of 4) after adjustment for inflation. Corporate profits per employee flourished, with inflation-adjusted increases of 150 percent before taxes and 200 percent after taxes. In contrast, average hourly earnings of workers in private nonagricultural industries were <emphasis>stagnant,</emphasis> actually decreasing by 4 percent after adjustment for inflation. Rather than coming out of corporate profits, the increasing cost of health care resulted in relatively flat real wages for 30 years.

More recently, researchers have examined the trade-off between wages and benefits in the public sector – one in seven US employees work for state and local government. These markets differ from the strictly competitive model in two ways:

1. There is considerable union representation in the public sector, limiting labor supply flexibility

2. Prices are not as flexible in the public sector, because the price for state and local services is the tax rate. Tax increases may be directly constrained by law, or may be politically difficult to pass.
Clemens and Cutler (2014) estimate that the compensation of school district employees tended to rise by 85 cents for each dollar increase in health benefits, with reductions in wages and salaries offsetting roughly 15 cents of the increase. They also find that strong  public worker organizations can resist offset, possibly at the costs of lay-offs (consistent with the analysis in Figure 11-2).  Workers represented by weaker unions face larger offsets. 

Qin and Chernew (2014) examine offsets in the larger public sector. Their estimates are consistent with those of  those of Clemens and Cutler (about a 15 percent tradeoff).  When they exclude health sector employees, and conduct more sophisticating matching analyses, they estimate a trade-off of about 48.5%, but it is not statistically different from the earlier 15% estimate.  

<section id="ch11lev2sec7"><title id="ch11lev2sec7.title">Other Impacts of Employer Provision of Health Insurance</title>
<para>Employer provision of health insurance has other impacts as well. Because the employer is a large, single buyer of coverage, the purchase of insurance through the employer provides scale economies of dealing with insurance providers that single purchasers could never enjoy. This tends to lower the effective price of coverage to the employees.</para>
<para>In addition, group purchase by employers addresses the problem of adverse selection in the provision of insurance. Recall that in <link olinkend="ch08" preference="0">Chapter <xref olinkend="ch08" label="8"><inst>8</inst></xref></link> we considered a club whose members participated in an insurance arrangement. The arrangement worked well because the contract provided a necessary service to the members. In particular, the probability of a claim was a random event that could be calculated, and that was independent of the actions of the members.</para>
<para>Central to this result is the proposition that the probability of usage is independent of the insurance plan. Suppose that Karen smokes cigarettes and knows that her probability of a claim is not the 5 percent assumed by the insurance company, but rather 10 percent. If able to convince an insurer that she indeed belonged to the less risky (5 percent) category, Karen would be able to buy insurance much cheaper than the actuarially fair premium. Karen would get a bargain; the insurer would lose money. The inability to identify probabilities, and hence their impacts on the insurance market, is often referred to as <emphasis>adverse selection.</emphasis></para>
<para>As an example, consider an insurance plan that offers major hospitalization coverage. Consider also that many heavy smokers may recognize their higher probabilities of lip, throat, or lung cancer and heart disease. If they can prevent their insurers from finding out about their smoking, then they can purchase much cheaper insurance than the appropriate premium, given their prior conditions.
</para>
<sidebar id="ch11sb02" label="11-2" float="1" type="bx1"><inst>Box 11-2 For Many with Pre-existing Conditions, Obamacare’s Flaws are Only a Small Price to Pay </inst>
 “Fiona O’Connell is familiar with the working person’s health care nightmare — the one where you get too sick to work, and then you lose your job, and then you have no insurance to pay for the treatment you need.  O’Connell lived that nightmare, and she’s still bitter and angry,” wrote reporter Judy Peres, in the Chicago Tribune, in May 2014.

O’Connell, 54, had worked as a property manager for a company whose benefits included employee medical insurance but in 2007 she received a breast cancer diagnosis and went through months of surgery, radiation and chemotherapy.  After stints on short-term disability and unpaid leave, O’Connell offered to return part time but was turned down. Eventually she lost her job, and her cancer meant she was uninsurable in the private market after her COBRA (Continuation of Benefits, a federal act giving certain former employees, retirees, spouses former spouses, and dependent children the right to temporary continuation of health coverage at group rates – generally for up to 18 months) benefits ran out.

With help from a relative who works in the insurance industry, O’Connell found coverage through the state’s former high-risk pool, known as ICHIP. It was expensive — $900 to $1,200 per month, she said — but she felt grateful to have it.

Under Obamacare, O’Connell, acquired a Blue Cross Blue Shield policy at a cost of $332.95 per month, including dental coverage (including an income-related federal subsidy of $354.) Her annual deductible is $1,000 for network providers and $2,000 for out-of-network providers. “But most of my doctors were in the plan I chose,” she said, “so I have no issues there.”

Choosing an insurance plan can be complex.  Researchers at Virginia Commonwealth University reported that about 50 percent of consumers buying insurance on mock exchanges picked plans that did not offer adequate coverage for their health status.  In addition, consumers should not assume all providers at a given hospital are covered just because some are. “Each doctor signs their [sic] own contract with an insurer,” reported a spokeswoman for Blue Cross and Blue Shield of Illinois. “Even doctors within the same practice may not be in the same network.”

To O’Connell and several other cancer patients interviewed, however, any drawbacks are a small price to pay for access to good medical care.
Source: _ Peres, Judy, “For many with pre-existing conditions, Obamacare’s flaws are only a small price to pay”, Chicago Tribune, May 29, 2014, 

http://medcitynews.com/2014/05/pre-existing-conditions-obamacares-drawbacks-small-price-pay/, accessed February 5, 2016

___________________________
<para>It can be argued that the purchase of insurance by employers minimizes adverse selection by providing a more appropriate pool for the fixing of insurance rates. <link linkend="ch11sb02" preference="1" type="forward">These advantages accrue because most groups contain a broad mix of risks, by virtue of having been formed for some purpose <emphasis>other</emphasis> than insurance.</para></section></section>
<section id="ch11lev1sec3"><title id="ch11lev1sec3.title">Employer-Based Health Insurance and Labor Supply</title>
<para>Because even under Obamacare most private health insurance is obtained through employment and is typically not portable to different employers, researchers have sought to determine the extent to which health insurance may affect labor supply. The two major impacts relate to retirement age and job mobility.</para>
<section id="ch11lev2sec8"><title id="ch11lev2sec8.title">Health Insurance and Retirement</title>
<para>Aging workers face a dilemma. Gruber and Madrian (2002) show that compared with those age 35 to 44, those age 55 to 64 are:</para>
<itemizedlist id="ch11it02" mark="bull" spacing="normal"><listitem><para><inst>•
</inst>twice as likely to report themselves in fair health and four times as likely to report themselves in poor health,</para></listitem>
<listitem><para><inst>•
</inst>seven times as likely to have had a heart attack and five times as likely to have heart disease, and</para></listitem>
<listitem><para><inst>•
</inst>40 percent more likely to have a prescribed medicine (with twice as many medicines if receiving a prescription).</para></listitem></itemizedlist>
<para role="continued">As a result, their medical spending is almost twice as large and twice as variable as the younger group.</para>
<para>While declining health makes retirement more attractive, it also makes employer-provided insurance more attractive, especially for those younger than 65 years of age, at which time Medicare will provide insurance. Thus, individuals face an incentive to postpone retirement until they are eligible for Medicare at age 65.</para>
<para>Researchers have generally focused on the impact of retiree health insurance on retirement behavior. Gruber and Madrian summarize 16 studies and report that the availability of retiree health insurance raises the odds of retirement by between 30 and 80 percent.</para></section>
<section id="ch11lev2sec9"><title id="ch11lev2sec9.title">Health Insurance and Mobility</title>
<para>Health insurance may also affect worker mobility between jobs. Prior to the Affordable Care Act, employees may have feared losing coverage for pre-existing conditions, generally defined as any medical problem that has been treated or diagnosed within the past six months to two years. This job lock may have several economic effects:</para>
<itemizedlist id="ch11it03" mark="bull" spacing="normal"><listitem><para><inst>•
</inst>Less productive workers may stay at jobs for insurance reasons only, leading to decreased economic output because they would not be replaced by more productive workers.</para></listitem>
<listitem><para><inst>•
</inst>Even if all workers are equally productive, some workers may stay in jobs for fear of losing the health insurance benefits to the exclusion of those who would otherwise fill the jobs.</para></listitem>
<listitem><para><inst>•
</inst>Those who do change jobs may be denied coverage, face higher premiums, or only obtain insurance subject to a waiver that excludes coverage of their health condition.</para></listitem></itemizedlist>
<para role="continued">Both Cooper and Monheit (1993) and Madrian (1994) address the issue. We look more closely at Madrian’s presentation.</para>
<para>Madrian created a simple matrix of the probability of job mobility to consider the impact of job lock. Because job lock is caused by the potential loss of health insurance coverage with changing jobs, one would not expect those with coverage through both their own employment and an outside job to face job lock.
	<informaltable id="informaltable0" frame="none" float="0"><tgroup cols="3" colsep="0" rowsep="0" align="left"><colspec colnum="1" colname="c1" align="left" colwidth="150"/><colspec colnum="2" colname="c2" align="left" colwidth="150"/><colspec colnum="3" colname="c3" align="left" colwidth="150"/><spanspec spanname="s1" namest="c1" nameend="c3" align="left"/><spanspec spanname="s2" namest="c2" nameend="c3" align="left"/><tbody><row><entry spanname="s1" valign="top"><para><emphasis role="strong">The Probability of Changing Jobs</emphasis></para></entry></row>

	
	<row><entry><para> </para></entry><entry spanname="s2" valign="top"><para><emphasis role="strong">Employer-Provided Health Insurance</emphasis></para></entry></row>

	<row><entry><para> </para></entry>
	<entry valign="top"><para><emphasis role="strong">No</emphasis></para></entry>
	<entry valign="top"><para><emphasis role="strong">Yes</emphasis></para></entry></row>

	<row><entry valign="top"><para>No other health insurance</para></entry>
	<entry valign="top"><para><emphasis>a</emphasis></para></entry>
	<entry valign="top"><para><emphasis>b</emphasis></para></entry></row>

	<row><entry valign="top"><para>Other health insurance</para></entry>
	<entry valign="top"><para><emphasis>c</emphasis></para></entry>
	<entry valign="top"><para><emphasis>d</emphasis></para></entry></row></tbody></tgroup></informaltable>


<para>She tests for the magnitude of job lock by examining whether those workers with employer-provided health insurance and other coverage are more likely to change jobs than those without alternative coverage, or:</para>
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<informalequation id="ch11if01"><mediaobject float="0"><textobject role="xpressmath"></textobject></mediaobject></informalequation>
<para>However, if a man is in cell <emphasis>d,</emphasis> it may be due to the insurance provided by his wife, who may be providing income as well; all else being equal, the additional income could lead to increased mobility. Hence, Madrian derives a second test: Whether having other health insurance increases mobility more for those who have employment-based insurance (d – b) than for those who do not (c – a),  or:</para>
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<informalequation id="ch11if02"><mediaobject float="0"><textobject role="xpressmath"></textobject></mediaobject></informalequation>
<para role="continued">This test is referred to as “difference-in-difference,” the difference between (<emphasis>d</emphasis> – <emphasis>b</emphasis>) and (<emphasis>c</emphasis> – <emphasis>a</emphasis>).</para>
<para>Her most general model looks at the probability of turnover of married men. Inserting predicted job turnover probabilities into Madrian’s matrix, the raw estimate indicates that the mobility rate under job lock (cell <emphasis>b</emphasis>) is 0.085 or 26 percent lower than cell <emphasis>d,</emphasis> which shows a mobility rate of 0.115. The difference-in-difference estimates, attempting to account for any independent effect of other health insurance on mobility, give an alternative estimate of 31.1 percent.</para>
<para>Subsequent research has supported Madrian’s results. Sanz de Galdeano (2006) uses Survey of Income and Program Participation (SIPP) 1996–2000 panel to find that employer-provided health insurance adversely affects job mobility for all population subgroups by about 31 to 58 percent. She also evaluates the impact of the Health Insurance Portability and Accountability Act (HIPAA) of 1996 on job mobility, and finds evidence that is contrary to its intended objectives. That is, the 1996 HIPAA failed to remedy the insurance-induced job lock in labor markets.</para>
<para>Rashad and Sarpong (2008) provide a good review of the literature. They find that individuals with employer-provided health insurance stay on the job 16% longer and are 60% less likely to voluntarily leave their jobs than those with insurance that is not provided by their employers.</para>
<para>Job lock thus appears as an unintended consequence of employment-related coverage in the United States. It could be addressed through changes that are broadly consistent with prudent insurance practices. These include elimination of pre-existing condition clauses and the development of health insurance pooling mechanisms in local labor markets that might promote continuity of coverage across employers. The elimination of pre-existing condition clauses due to the features of the ACA would lead observers to expect the degree of job lock to diminish, but as of 2016 there have been no definitive studies.

<section id="ch11lev1sec4"><title id="ch11lev1sec4.title">The Market for Insurance</title>
<para>Having discussed the provision of insurance in theory, we now consider some institutional features of the health insurance market. Such a discussion must address the roles of the Blue Cross insurers, which were originally nonprofit firms, and the commercial insurers, which were typically for-profit firms. With increased competition in the health care sector, many distinctions have blurred. Nonetheless, to understand the current insurance market, we consider how it has developed over time.</para>
<section id="ch11lev2sec10"><title id="ch11lev2sec10.title">The Market for Private Insurance</title>
<para>The number of those privately insured in the United States burgeoned after World War II. From a base of 12 million insured in 1940, it increased by a factor of more than six by 1950 (to 76.6 million), and doubled again (to 158.8 million) by 1970. By 1980, over 187 million US residents had private health insurance.</para>
<para>Well into the 1970s, most of the coverage was provided either by insurance companies (usually in group settings) or by Blue Cross and Blue Shield plans. Since the late 1970s, use of other plans has increased, with declines in both the shares and the absolute numbers of those covered by both the insurance companies and the “Blues.” This reflects the movement toward self-insurance by large firms, as well as toward various arrangements through health maintenance organizations (HMOs), preferred provider organizations (PPOs), point-of-service (POS) providers, and other forms of managed care.</para>
<para><link linkend="ch11table01" preference="1" type="forward">Table <xref linkend="ch11table01" label="11-1"><inst>11-2</inst></xref></link> provides more recent health insurance coverage status, as well as type of coverage. The largest portion of the population has private coverage, and the largest portion of that comes through the workplace. In 2012, 198.8 million people had private coverage, with almost 86 percent (170.9 million) getting the coverage from the workplace. Over 101 million had health insurance through the government—some (particularly those with Medicare) were dually covered by both the private market and the government. Based on these government estimates, the number of uninsured increased from 36.6 million in 2000 to 48.0 million in 2012, and touching 50.0 million in 2010.</para>
<table id="ch11table01" label="11-1" float="1" frame="none" prefix="Table"><title id="ch11table01.title"><inst>Table 11-2 </inst>Health Insurance Coverage Status and Type of Coverage, 1990–2012 (in thousands)</title><tgroup cols="11" colsep="0" rowsep="0" align="left"><colspec colnum="1" colname="c1" align="left" colwidth="50"/><colspec colnum="2" colname="c2" align="left" colwidth="50"/><colspec colnum="3" colname="c3" align="left" colwidth="50"/><colspec colnum="4" colname="c4" align="left" colwidth="50"/><colspec colnum="5" colname="c5" align="left" colwidth="50"/><colspec colnum="6" colname="c6" align="left" colwidth="50"/><colspec colnum="7" colname="c7" align="left" colwidth="50"/><colspec colnum="8" colname="c8" align="left" colwidth="50"/><colspec colnum="9" colname="c9" align="left" colwidth="50"/><colspec colnum="10" colname="c10" align="left" colwidth="50"/><colspec colnum="11" colname="c11" align="left" colwidth="50"/><spanspec spanname="s1" namest="c1" nameend="c11" align="left"/><spanspec spanname="s2" namest="c4" nameend="c6" align="left"/><spanspec spanname="s3" namest="c7" nameend="c10" align="left"/>
	<thead><row><entry valign="top"><para></para></entry>
	<entry><para> </para></entry>
	<entry><para> </para></entry>
	<entry spanname="s2" valign="top"><para>Private</para></entry>
	<entry spanname="s3" valign="top"><para>Government</para></entry>
	<entry><para> </para></entry></row>

	<row><entry valign="top"><para>Year</para></entry>
	<entry valign="top"><para>Total People</para></entry>
	<entry valign="top"><para>Total Insured Private or Gov’t</para></entry>
	<entry valign="top"><para>Total</para></entry>
	<entry valign="top"><para>Employer Based</para></entry>
	<entry valign="top"><para>Direct Purchase</para></entry>
	<entry valign="top"><para>Total Insured</para></entry>
	<entry valign="top"><para>Medicaid</para></entry>
	<entry valign="top"><para>Medicare</para></entry>
	<entry valign="top"><para>Military</para></entry>
	<entry valign="top"><para>Not Covered</para></entry></row></thead>


	<tbody><row><entry valign="top"><para>1990</para></entry>
	<entry valign="top"><para>248,886</para></entry>
	<entry valign="top"><para>214,167</para></entry>
	<entry valign="top"><para>182,135</para></entry>
	<entry valign="top"><para>150,215</para></entry>
	<entry><para> </para></entry>
	<entry valign="top"><para>60,965</para></entry>
	<entry valign="top"><para>24,261</para></entry>
	<entry valign="top"><para>32,260</para></entry>
	<entry valign="top"><para>9,922</para></entry>
	<entry valign="top"><para>34,719</para></entry></row>

	<row><entry valign="top"><para>1995</para></entry>
	<entry valign="top"><para>264,314</para></entry>
	<entry valign="top"><para>223,733</para></entry>
	<entry valign="top"><para>185,881</para></entry>
	<entry valign="top"><para>161,453</para></entry>
	<entry><para> </para></entry>
	<entry valign="top"><para>69,776</para></entry>
	<entry valign="top"><para>31,877</para></entry>
	<entry valign="top"><para>34,655</para></entry>
	<entry valign="top"><para>9,375</para></entry>
	<entry valign="top"><para>40,582</para></entry></row>

	
	
	
	
	
	
	
	
	
	
	

	<row><entry valign="top"><para>2000</para></entry>
	<entry valign="top"><para>279,517</para></entry>
	242,932
	205,575
	181,862
	28,432
	68,183
	28,062
	37,787
	8,937
	36,586

	<row><entry valign="top"><para>2001</para></entry>
	<entry valign="top"><para>282,082</para></entry>
	244,059
	204,142
	179,984
	28,398
	70,330
	30,166
	37,870
	9,580
	38,023

	<row><entry valign="top"><para>2002</para></entry>
	<entry valign="top"><para>285,933</para></entry>
	246,157
	204,163
	179,563
	29,287
	72,825
	31,934
	38,359
	9,892
	39,776

	<row><entry valign="top"><para>2003</para></entry>
	<entry valign="top"><para>288,280</para></entry>
	246,332
	201,989
	177,362
	28,826
	76,116
	34,326
	39,284
	10,124
	41,949

	<row><entry valign="top"><para>2004</para></entry>
	<entry valign="top"><para>291,166</para></entry>
	249,414
	203,014
	177,924
	29,161
	79,480
	38,055
	39,757
	10,584
	41,752

	<row><entry valign="top"><para>2005</para></entry>
	<entry valign="top"><para>293,834</para></entry>
	250,799
	203,205
	178,391
	28,980
	80,283
	38,191
	40,167
	11,164
	43,035

	<row><entry valign="top"><para>2006</para></entry>
	<entry valign="top"><para>296,824</para></entry>
	251,610
	203,942
	178,880
	29,033
	80,343
	38,370
	40,336
	10,543
	45,214

	<row><entry valign="top"><para>2007</para></entry>
	<entry valign="top"><para>299,106</para></entry>
	255,018
	203,903
	178,971
	28,500
	83,147
	39,685
	41,387
	10,955
	44,088

	<row><entry valign="top"><para>2008</para></entry>
	<entry valign="top"><para>301,483</para></entry>
	256,702
	202,626
	177,543
	28,513
	87,586
	42,831
	43,031
	11,562
	44,780

	<row><entry valign="top"><para>2009</para></entry>
	<entry valign="top"><para>304,280</para></entry>
	255,295
	196,245
	170,762
	29,098
	93,245
	47,847
	43,434
	12,414
	48,985

	2010
	306,553
	256,603
	196,147
	169,372
	30,347
	95,525
	48,533
	44,906
	12,927
	49,951

	2011
	308,827
	260,214
	197,323
	170,102
	30,244
	99,497
	50,835
	46,922
	13,712
	48,613

	2012
	311,116
	263,165
	198,812
	170,877
	30,622
	101,493
	50,903
	48,884
	13,702
	47,951


<row class="11" role="tfoot"><entry spanname="s1"><source><emphasis>Source:</emphasis> 1990 and 1995 data from <emphasis>Current Population Survey,</emphasis> March 1988–2005; 1999 data forward from <ulink url="http://www.census.gov/hhes/www/hlthins/data/historical/files/hihistt1.xls">http://www.census.gov/hhes/www/hlthins/data/historical/files/hihistt1.xls</ulink></source></entry></row></tbody></tgroup></table>
<para>The period from 2007 to 2009 represents a major departure from longer term trends. During the “Great Recession,” the number of Americans with employer-provided insurance fell by 7.8 million, and the number with government-provided insurance rose by over 10 million, with an over 8.2 million increase in those receiving Medicaid. The number of uninsured jumped from 45.7 million to 50.7 million. Almost certainly, the passage of the 2010 Affordable Care Act stemmed in large part from perceived problems in insurance coverage, as well as concerns about health costs. We discuss this in considerable detail in <link olinkend="ch23" preference="0">Chapter <xref olinkend="ch23" label="23"><inst>22</inst></xref></link>.</para></section>
<section id="ch11lev2sec11"><title id="ch11lev2sec11.title">Insurance Practices</title>
<para>At least two organizational and practice issues characterize the health insurance industry and link it to the emerging issues of managed health care. The first issue is a conflict between insurers and the insured (most often represented by the health care providers) regarding the amounts of claims, and indeed whether the claims should be paid at all. From the earliest instances of health insurance, providers, most particularly physicians, argued that their judgments must not be questioned on cost grounds. Insurers, in contrast, could increase their profits and reduce customer premiums by judiciously questioning treatments and costs.</para>
<para>Why would providers consent to having someone second-guess their decisions? Goldberg and Greenberg (1977) traced the growth of health insurance in Oregon in the 1930s. At that time, physicians shared in economic problems of the Great Depression with the larger population, and they saw acceptance of health insurance, even with its accompanying oversight, as a way of increasing earnings. Although insurance plans were attractive to physicians in those difficult times, groups such as the Oregon State Medical Society threatened to expel physicians who participated in the plans.  They sought to establish their own plans, and the plans that they established tended to be less strict in their cost reviews.</para>
<para>Blue Cross and Blue Shield plans were started by medical providers, with Blue Cross providing hospital payment and Blue Shield providing physician payment. The Blues typically offered more complete and more comprehensive coverage than other insurers, and they paid participating providers directly. They were also generous in the payment of hospital care. The development and success of large hospitals in the post–World War II United States was at least in part supported by the generosity of Blue Cross and Blue Shield reimbursement of hospital stays on per-diem bases. The fiscal distress facing many large hospitals since the early 1980s may be traced to changes in financing that accompanied the reduced power of Blue Cross and Blue Shield leadership in the provision of health insurance, in part related to the strictures placed by Diagnosis Related Group (DRG) controls. Medicare introduced DRGs to provide prospective fixed payments for specific diagnoses. These payments induced cost-containment measures that generally resulted in reduced hospital stays.</para>
<para>The second organizational pattern that has characterized the industry is the change in “rating” clients. We have noted that insurers pool their clienteles to determine risk premiums based on their experiences with the groups. Blue Cross plans began with a method called <emphasis>community rating</emphasis> in which all subscribers in a given location, irrespective of age or health experience, were charged the same premium. This contrasts with experience, or risk, rating, in which the insurer charges group premiums (to a company or a fraternal or service organization) based on its experience with the group.</para>
<para>Community rating provides a fundamental information problem. Low-risk clients are overcharged, and their premiums are transferred to higher-risk clients in the same pool. Advocates of community rating argue that this allows high-risk and low-income clients to buy insurance that would otherwise have been unavailable.  This argument, in part, characterizes the individual mandate from the Affordable Care Act which requires individuals either to purchase health insurance or to pay a penalty (functionally equivalent to a tax) instead.
Under risk pooling, however,  </para>
<para>insurers can identify groups with low risk and offer them lower-cost insurance. Many large firms choose alternative carriers who, again, will charge lower premiums than the community-rated Blue plans. The large firms may in fact choose to self-insure. This “cream skimming” practice may leave the plans that continue to community-rate their clienteles with client pools that are so risky that they require almost prohibitively high premiums. 
Health Insurance Markets Since the 1980s <section id="ch11lev2sec12"><title id="ch11lev2sec12.title">
<para>The shift toward managed health care through HMOs and PPOs from about 1980 onward induced a change in philosophy among Blue Cross and Blue Shield insurance plans. The typical Blue Cross and Blue Shield system faced stiff competition from smaller organizations that were peeling off supposedly more desirable clients from the community-rated system leading to higher costs for those who remained in the system.</para>
<para>The major explicit response to the changing marketplace was the 1994 approval of a change in organizational status. Blue Cross plans are now either for-profit firms or establish for-profit subsidiaries.</para>
<para>Why change? One fundamental reason involved the ability to raise capital. Nonprofit organizations must generate funds through their revenues, whereas for-profit firms may sell stock. With more competition in the marketplace and renewed emphases on lowering premiums and costs of care, the option to sell stock became more attractive.</para>
A 2016 report (Farrah, 2016) indicated that Blue Cross and Blue Shield companies and affiliates commanded more than 60% of the health insurance market share in 10 states, up from 9 states at the same point the previous year. 

In 10 other states, Blues companies collectively retained a 50 to 59% share of the market and in another 14 states the market share ranged from 40 to 49%. For 17 states plus the District of Columbia, Blue Cross and Blue Shield business represents market shares ranging from 20% to 39%.

<para>Austin and Hungerford (2010) argue that Blue Cross plans were originally designed to avoid competition by requiring exclusive territories and barring plans linked to specific hospitals. They surmise that those requirements may have been aimed at supporting community rating policies and broadly based risk pools, benefitting many consumers. As commercial insurers and managed care strategies rose in prominence, market forces along with merger and acquisition strategies have helped reshape the health insurance market. </para></section></section>
<section id="ch11lev1sec5"><title id="ch11lev1sec5.title">The Uninsured: An Analytical Framework</title>
<para>With the high costs of health care and the inevitability to most people of incurring at least some expenses, it has become crucial for individuals to have access to health insurance. In the United States, health insurance availability has been linked to the workplace. Yet various surveys showed that leading up to and shortly following the Great Recession of 2007-2009 over 50 million Americans have no health insurance at any moment in time (see <link linkend="ch11sb03" preference="1" type="forward">Box <xref linkend="ch11sb03" label="11-3"><inst>11-3</inst></xref></link>), and that a large fraction of these people were  employed. 
The<para><link linkend="ch11table02" preference="1" type="forward">TheT workplace did  not provide insurance for all families, and that coverages vary widely by economic circumstance. In 2009,  28.8 percent of those aged 25–34 were uninsured, compared to 23.8 percent in 2002. In the 35-to-44 range, 21.8 percent were uninsured in 2009, compared to 17.8 percent in 2002.

</para>
<sidebar id="ch11sb03" label="11-3" float="1" type="bx1"><inst>Box 11-3</inst>
<title id="ch11sb03.title">Counting the Uninsured</title>
E<para>EEEstimates of the uninsured come from surveys of the population, rather than by censuses, in which all are counted. Most estimates of the uninsured come from the National Health Interview Survey (NHIS), the March supplement to the Current Population Survey used by the Census Bureau (CPS), the Medical Expenditure Panel Survey (MEPS), and the Survey of Income and Program Participation (SIPP).  Because the surveys differ, their results also differ.</para>
<para>The CPS identifies individuals as uninsured if they have lacked coverage for the entire previous calendar year (although many analysts believe that respondents incorrectly provide information about their current insurance status). The SIPP identifies individuals who are uninsured for each month of a four-month reference period. The NHIS identifies individuals as uninsured if they lacked coverage in the month prior to the survey. The MEPS data count as uninsured those without coverage for the entire interview round (an average of three to five months).</para>
<para>Insurance definitions vary. MEPS defines private insurance as coverage for hospital and physician services, thereby eliminating serious and dread disease, workers compensation, accident, and disability policies from counting as coverage. As well, MEPS has not included single service plans (such as dental plans) as private insurance except for single service hospital coverage. CPS and SIPP instruct interviewers not to count single service plans as private insurance, but researchers believe that some single service coverage may get misreported as comprehensive coverage.</para>
<para>In short, estimating the uninsured is like measuring temperature or rainfall; estimates may vary depending on when, where, and how the measurements are taken.  That said, the uninsured estimates from different sources generally move up and down together, serve as checks on the others, and provide reliable trends, but they are not likely to be identical.</para>
<source><emphasis>Source:</emphasis> U.S. Department of Health and Human Services, Understanding Estimates of the Uninsured: Putting the Differences in Context, <ulink url="http://aspe.hhs.gov/health/reports/05/uninsured-understanding-ib/index.htm"> https://aspe.hhs.gov/basic-report/understanding-estimates-uninsured-putting-differences-context </ulink>, accessed February 6, 2016.</source></sidebar>
<para>Repeated surveys of the uninsured (Kaiser Foundation, 2005) exploded common myths about the numbers and motivations of the uninsured. Although it is plausible that some people rationally “choose” not to have insurance, only 7 percent asserted that they did not think they needed it. The majority said the main reason was that was is too expensive. Some members of the public, and some politicians, argue that the uninsured can get the care they need, including emergency room settings, when they really need it. However surveys indicated that over one-third of the uninsured report needing care in the previous year but not getting it, and nearly half of the uninsured report postponing care—rates at least three times higher than those with insurance. <link linkend="ch11sb04" preference="1" type="forward">Box <xref linkend="ch11sb04" label="11-4"><inst>11-4</inst></xref></link> updates the discussion to the most recent 2010 health care debate.</para>
<para>Under any circumstance, it is important to examine the reasons that some individuals lack insurance. Insurers must be able to lower the loading factors, which are the costs of determining probabilities of claims and processing claims. The ability to insure through the workplace gives the opportunity to improve the experience rating. In principle, private insurers can insure those outside the workplace, and many do, particularly those in affinity groups, such as organizations and clubs, or the elderly. If high costs lead to onerous payments, then the problem may be poverty rather than high prices. This would suggest the need for governmental subsidies in a social insurance scheme.
<sidebar id="ch11sb04" label="11-4" float="1" type="bx1"><inst>Box 11-4 – Why Being Insured Matters</inst>
<para>In the debate about the Affordable Care Act of 2010, there was a heated discussion about the number of uninsured, whether they were uninsured by choice, and what the impact was on their health. A 2010 report by the Center for Disease Control addressed these issues:</para>
<orderedlist numeration="arabic" spacing="normal" inheritnum="ignore" continuation="restarts"><listitem><inst>
1.
</inst><para>More than 1 in 4 adults 18–64 years old—about 50 million people—had no health insurance for at least part of the previous year. Over the previous several years, the number of adults 18–64 years old without health insurance for at least part of the year had increased by an average of 1.1 million people each year.</para></listitem>
<listitem><inst>
2.
</inst><para>Middle-income people accounted for half of that increase.</para></listitem>
<listitem><inst>
3.
</inst><para>Not having insurance has a greater impact among those adults who need health care the most. Delays in receiving health care can lead to poorer health and higher medical costs over time, especially for those individuals who already have health issues, including the approximately 40% of the U.S. population with one or more chronic diseases. About 60% of adults ages 18–64 with a disability who had recent gaps in the past 12 months in their insurance skipped or delayed care as well.</para></listitem></orderedlist>
<source><emphasis>Source:</emphasis> Centers for Disease Control and Prevention, “Health Care: See Why Being Insured Matters,” <ulink url="http://www.cdc.gov/Features/VitalSigns/HealthcareAccess/">http://www.cdc.gov/Features/VitalSigns/HealthcareAccess/</ulink>, November 2010, accessed May 24, 2011.</source></sidebar><NOXMLTAGINDOC><DOCPAGE NUM="227"></DOCPAGE></NOXMLTAGINDOC>
<section id="ch11lev2sec13"><title id="ch11lev2sec13.title">The Working Uninsured</title>
Although the health insurance environment has changed considerably with the passage of the Affordable Care Act of 2010, employer-provided insurance is still the biggest source of health insurance.  However, some employers cannot or will not offer insurance.  What are the economics behind this decision?


<para>Consider the working uninsured,  Starting in <link linkend="fg11_00500" preference="1" type="forward">Figure <xref linkend="fg11_00500" label="11-5"><inst>11-5,</inst></xref></link> firm that is a price taker (facing a horizontal supply curve) in the labor market pays wage <emphasis>w</emphasis><subscript><inst></inst>0<inst></inst></subscript>, and offers no insurance. At initial equilibrium point <emphasis>A,</emphasis> the firm hires <emphasis>L</emphasis><subscript><inst></inst>0<inst></inst></subscript> workers. Suppose that the workers negotiate an insurance contract worth $1 per hour to them. As in <link linkend="fg11_00200" preference="0" type="backward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link> earlier in this chapter, if the workers were willing to accept wage <emphasis>w</emphasis><subscript><inst></inst>0<inst></inst></subscript> before, they will now be willing to accept <emphasis>w</emphasis><subscript><inst></inst>0<inst></inst></subscript> – 1 dollars per hour in wages plus the insurance, and their supply curve shifts downward to reflect this willingness.</para>
<para>The literature suggests, however, that many businesses, especially small businesses, may have limited experience ratings; as a result, their loading costs may be 40 percent or more higher than those paid by large firms. If the loading costs are high, then it may cost much more than one dollar to provide a dollar’s worth of insurance. In the <link linkend="fg11_00400" preference="0" type="backward">Figure <xref linkend="fg11_00400" label="11-4"><inst>11-4</inst></xref></link> example, the demand for labor curve (with $1 per hour of insurance) shifts down by $1.40.</para>

<para>At employment level <emphasis>L</emphasis><subscript><inst></inst>0<inst></inst></subscript>, the marginal cost to the firm of the workers, <emphasis>w</emphasis><subscript><inst></inst>0<inst></inst></subscript> – 1<emphasis>,</emphasis> exceeds the marginal product net of the health insurance, <emphasis>w</emphasis><subscript><inst></inst>0<inst></inst></subscript> – 1.40. To continue employing <emphasis>L</emphasis><subscript><inst></inst>0<inst></inst></subscript> workers, the firm must reduce the amount of insurance to less than $1 per hour so that the sum of the value of marginal product plus the insurance equals <emphasis>w</emphasis><subscript><inst></inst>0<inst></inst></subscript>. If it cannot reduce the amount of insurance, then the firm will have to reduce its employment to <emphasis>L</emphasis><subscript><inst></inst>1<inst></inst></subscript>, at point <emphasis>B. 
</emphasis></para><section id="ch11lev2sec14"><title id="ch11lev2sec14.title">The Impacts of Mandated Coverage</title>

As of 2016 the 50 states plus the District of Columbia have almost 1,100 mandates to provides specified benefits.  The states vary their detail from Idaho (4 mandated benefits) to Maryland (63 mandated benefits).  Many of the mandated benefits quite common (mammogram and prostate screening, alcohol and smoking cessation), but others are less so (wigs in Rhode Island, bone mass measurement in Maryland).




The ACA has mandated a set of 10 categories of essential benefits at the federal level.  These benefits have moved much of the “action” on mandated coverage from the state to the federal level, and the mandated federal benefits have come to dwarf state mandates in their comprehensive nature, and their economic impacts.  

The mandated essential benefits are:

1. Outpatient care—the kind patients get without being admitted to a hospital

2. Trips to the emergency room

3. Treatment in the hospital for inpatient care

4. Maternal care before and after the baby is born

5. Mental health and substance use disorder services: This includes behavioral health treatment, counseling, and psychotherapy

6. Prescription drugs

7. Services and devices to help patients recover if injured, have a disability or chronic condition. This includes, but is not limited to, physical and occupational therapy, speech-language pathology, and psychiatric rehabilitation.

8. Laboratory tests.

9. Preventive services including counseling, screenings, and vaccines to keep patients healthy and care for managing chronic diseases.

10. Pediatric services including dental care and vision care for children.

Source: 10 health care benefits covered in the Health Insurance Marketplace, https://www.healthcare.gov/blog/10-health-care-benefits-covered-in-the-health-insurance-marketplace/, accessed February 7, 2016.
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eturning to <link linkend="fg11_00500" preference="0" type="backward">Figure <xref linkend="fg11_00500" label="11-5"><inst>11-5</inst></xref></link>, if such coverage is provided through employee insurance, the mandates would raise the amount of insurance as well as its costs, thus lowering the (dashed) demand for labor curve net of insurance. Responses of employers to the increased marginal costs brought on by mandates may result in two adverse impacts. First, the company may stop offering insurance entirely because it is too expensive. Thus, rather than having modest health coverage with the benefits of whatever experience rating may exist within the workplace, there may be no coverage at all. The employer then may have to raise the wage to keep employees who would have to buy their own insurance. This may allow for employee choice, but it also denies the employee workplace-related experience rating.</para>
<para>The second adverse impact may also be understood by examining <link linkend="fg11_00500" preference="0" type="backward">Figure <xref linkend="fg11_00500" label="11-5"><inst>11-5</inst></xref></link>. The equilibrium value of marginal product and net wage at point <emphasis>A</emphasis> represents a labor force of the appropriate size to maximize profits for the producer. Suppose, for example, that <emphasis>w</emphasis><subscript><inst></inst>0<inst></inst></subscript> represents a binding minimum wage, either by federal or by local “living wage” laws. Even if the workers value $1 in mandated benefits by the full dollar and would be willing to reduce their supply price, the money wage <emphasis>cannot</emphasis> fall lower than <emphasis>w</emphasis><subscript><inst></inst>0<inst></inst></subscript>. By this analysis, the new equilibrium is at point <emphasis>C,</emphasis> and the mandated coverage is likely to result in additional unemployment by the amount (<emphasis>L</emphasis><subscript><inst></inst>0<inst></inst></subscript> – <emphasis>L</emphasis><subscript><inst></inst>2<inst></inst></subscript>), which of course means sharply curtailed insurance benefits. How much employment falls is related to the elasticity (or responsiveness) of the labor demand curve to the increased gross wage. 

Many ACA opponents bolster their position with this “job killing” argument.  However the benefits of the enhanced coverage must be weighted against potential costs.  In addition, although it has potential theoretical merit for an individual firm (where no other firm is subject to  the mandate), it is unclear how the mandate will impact the entire economy, where all firms are faced with mandates.

IMPACTS OF THE AFFORDABLE CARE ACT ON THE UNINSURED <section id="ch11lev1sec6"><title id="ch11lev1sec6.title">

The Affordable Care Act (ACA) passed in 2010. <para> The ACA’s major coverage provisions went into effect in January 2014 and led to significant coverage gains. The number of uninsured non-elderly Americans in 2014 was 32 million, a decrease of nearly 9 million since 2013.  We will discuss the details of the ACA in considerable depth in Chapter 22, but since one of the major goals of the ACA was to reduce the number without insurance, it seems most appropriate to map out the enrollment successes (as of this writing in 2016), which include substantive reductions in the numbers uninsured, as well as the characteristics and issues that have as yet left large numbers of Americans without health insurance.  This analysis draws on US Census data analyzed by the Kaiser Commission on Health and the Uninsured (2015).

Elements of the ACA

The ACA has had two major means by which the uninsured can get coverage.  The first, and initially the more publicized, was the establishment of health exchanges (think of an Orbitz® for health insurance).  On these exchanges, health insurance carriers would compete for customers.  The improved information, and supposed ease in enrollment would enable health insurance consumers to shop among plans (termed platinum, gold, silver, and bronze, based on their coverage and cost).


The second important element was the subsidized expanion of Medicaid funding for those households whose incomes were below, to up to 400 percent of the federal poverty level.   Although the details are nontrivial, the important fact is that this improved purchasing power would allow households to buy insurance for the first time and/or reduce the amount that they were paying.

<section id="ch11lev2sec17"><title id="ch11lev2sec17.title">Evidence on the Impact of the ACA on the Uninsured</title>

While undoubtedly some of the fall in the number of uninsured reflected a continued recovery from the most severe recession since the 1930s, both the numbers and percentages of those without health insurance have fallen to the lowest levels in at least twenty-five years, and the percentages of those without health insurance has fallen to the lowest since records have been kept.


  As of June 2015, Medicaid enrollment had grown by 14 million since the period before open enrollment (which started in October 2013). This growth constituted an increase of 23% in monthly Medicaid enrollment.  This enrollment increase corresponded with large declines in the uninsured rate.  As noted in Figure 11-6, between 2013 and 2014, the uninsured rate dropped significantly, from 16.2% in the last quarter of 2013 to 12.1% in the last quarter of 2014. Declines continued into 2015, with preliminary data indicating an uninsured rate of 10.7%  Children, who already had a low uninsured rate due to relatively higher eligibility levels for public coverage, experienced a small decline in the uninsured, while the uninsured rate among nonelderly adults dropped significantly. The data also show substantial coverage gains among poor and low-income individuals, and people of color.


Who was still uninsured?  Figure 11-7 shows of the 32.3 million still uninsured, 73 percent of the uninsured had 1 or more full-time workers.  Individuals below the poverty level ($19,055 for a family of 3 in 2014) were at highest risk of being uninsured.  Over 80 percent of the uninsured were in low- to moderate-income families.  People of color were at the highest risk of being uninsured, although the largest numbers were non-Hispanic whites.

What was the major cause for those who were uninsured?  Costs were the biggest reason.  In 2014, almost 50 percent of uninsured adults said that they lacked coverage because it was too expensive.  Another 25 percent said they were ineligible because they were unemployed, could not get offers through work, or were told that their immigration status rendered them ineligible.

<section id="ch11lev1sec7"><title id="ch11lev1sec7.title">Conclusions</title>
<para><link olinkend="ch08" preference="0">Chapter <xref olinkend="ch08" label="8"><inst>8</inst></xref></link> introduced readers to insurance and to the specific issue of health insurance for individuals. In the current chapter, we have focused on the insurance market and the behaviors of firms within that market. We established that in a market setting, insurance constitutes an important part of the wage package, and to the extent that it is valuable to the workforce, higher insurance is reflected in lower money wages. This market result occurs irrespective of who contractually pays for the insurance.</para>
<para>We have also shown how many of the trappings of the U.S. health care system are related to the employer base of the health insurance. The system of tax deductibility pushes employees to ask for higher proportions of untaxed insurance relative to taxed wage benefits. The linkage of insurance to the workplace also tends to lock employees into certain jobs, constraining mobility.</para>
<para>We continued with a brief discussion of the evolution of the health insurance industry. This industry was formerly defined by the Blues (Blue Cross and Blue Shield) with their nonprofit status, community rating, and predilection for hospital care. Although they are still large, the decline in the primacy of the Blues has led to profound changes in the provision of health insurance and the delivery of care.</para>
<para>The chapter also included several implications about the uninsured. Some are not employed and hence ineligible for health insurance. There are others, however, whose health, employment, or lifestyles may not permit commercial insurers to provide insurance profitably. Government mandates to employers that they insure everyone if they insure anyone, may cause employers to drop insurance plans entirely, thus leaving larger numbers at risk. 
Finally, the Affordable Care Act of 2010, while hardly a complete solution to problems of the uninsured, has changed the landscape in which large-scale and universal coverage can be viewed.</para>
<title id="ch11sum01.title">Summary</title>

<orderedlist numeration="arabic" spacing="normal" inheritnum="ignore" continuation="restarts"><listitem><para><inst>
1.
</inst>Individual health insurance, in theory, trades off a guaranteed reduction in wealth (the insurance premium) for a reduction in uncertainty due to ill health through the pooling of risk. The organization and cost conditions in some health insurance markets, however, suggest that some contingencies may not be insurable.</para></listitem>
<listitem><para><inst>
2.
</inst>The economies of scale in processing information suggest that smaller firms or unions may see high marginal insurance costs relative to marginal benefits levels. These higher costs may reduce or eliminate the range of services that they offer.</para></listitem>
<listitem><para><inst>
3.
</inst>If workers in an industry value health insurance, then competitive pressures lead to reduced money wages’ offsetting increased health benefits.</para></listitem>
<listitem><para><inst>
4.
</inst>Subsidizing health insurance through government tax policies lowers the price of $1 of insurance premium relative to $1 of wage remuneration. This leads employees to purchase more health insurance relative to wages than would otherwise occur.</para></listitem>
<listitem><para><inst>
5.
</inst>Health insurance is a key determinant in the decision to retire. Studies suggest that the availability of retiree health insurance raises the odds of retirement by between 30 and 80 percent.</para></listitem>
<listitem><para><inst>
6.
</inst>Employer-provided health insurance may inhibit worker mobility between firms, thus locking employees into jobs. Researchers find this job lock to be responsible for substantial reductions in employee mobility.</para></listitem>
<listitem><para><inst>
7.
</inst>Much of the American health insurance environment has been defined by Blue Cross and Blue Shield plans, which as nonprofit firms were typically exempted from profits taxes, property taxes, and federal and state corporate taxes. Analysts once felt that such tax treatments gave the Blues considerable competitive advantages, but over the past two decades the Blues have faced considerable competition.</para></listitem>
<listitem><para><inst>
8.
</inst>Many groups have advocated that the federal government or individual states mandate either more coverage or various types of coverage. In reaction:</para>
<itemizedlist id="ch11it05" mark="bull" spacing="normal"><listitem><para><inst>
•
</inst>Companies may stop offering insurance entirely because it is too expensive.</para></listitem>
<listitem><para><inst>
•
</inst>Marginal workers may now cost more than they are worth, and some of them will be let go.</para></listitem></itemizedlist></listitem>
<listitem><para><inst>
9.
The ACA introduced a set of 10 essential benefit categories, and mechanisms for increasing insurance coverage.  Although open enrollment began only in October 2013, preliminary indicators show dramatic decreases in the numbers of uninsured Americans. 

</inst></para></listitem></orderedlist></summary><problemset id="ch11ps01" role="qonly">
<supertitle id="ch11ps01.supertitle">Discussion Questions</supertitle>
<general-problem id="ch11ps01gen001" label="1" maxpoints="1"><inst>
1.
</inst><question id="ch11ps01q001"><para>Suppose each person’s health expenditures can be predicted with certainty by both the insured and the insurer. What are the implications for insurance markets? Explain the prevalence of insurance for highly predictable events, such as routine dental services.</para></question></general-problem>
<general-problem id="ch11ps01gen002" label="2" maxpoints="1"><inst>
2.
</inst><question id="ch11ps01q002"><para>In 1986, the U.S. federal income tax system changed marginal tax rates so that the top federal marginal rate fell from 50 to 33 percent. More recently many marginal rates have fallen further. From what you know about how fringe benefits are negotiated, what would you expect to happen to the demand for health insurance as a fringe benefit? Why?</para></question></general-problem>
<general-problem id="ch11ps01gen003" label="3" maxpoints="1"><inst>
3.
</inst><question id="ch11ps01q003"><para>Suppose your health insurance allows you, a worker, to buy whatever prescription drugs you wish for $5 per prescription. In contract negotiations it is proposed to change this benefit to “10–20,” that is, you pay $10 for generic drugs and $20 for brand name drugs. What would your reaction be? What would economic analysis predict?</para></question></general-problem>
<general-problem id="ch11ps01gen004" label="4" maxpoints="1"><inst>
4.
</inst><question id="ch11ps01q004"><para>Suppose that a company pays its workers $20 per hour and provides an additional $2 per hour worth of fringe benefits, including a basic health insurance policy. Discuss the firm’s reaction to a state mandate that requires it to expand the items covered in the health care policy. What is likely to happen to the number of people employed?</para></question></general-problem>
<general-problem id="ch11ps01gen005" label="5" maxpoints="1"><inst>
5.
</inst><question id="ch11ps01q005"><para>Blue Cross plans typically have practiced community rating. If other insurance firms are seeking healthier patients at reduced rates, what impact will this have on Blue Cross net revenues? Why?</para></question></general-problem>
<general-problem id="ch11ps01gen006" label="6" maxpoints="1"><inst>
6.
</inst><question id="ch11ps01q006"><para>According to the 2010 Patient Protection and Affordable Care Act, adults with pre-existing conditions became eligible to join a temporary high-risk pool, which will be superseded by the health care exchange in 2014. To qualify for coverage, applicants must have a pre-existing health condition and have been uninsured for at least the past six months. Analyze the impacts of such regulations on insurance markets.</para></question></general-problem>
<general-problem id="ch11ps01gen007" label="7" maxpoints="1"><inst>
7.
</inst><question id="ch11ps01q007"><para>What is job lock? Would you expect job lock to increase or decrease if employer-based health insurance were to be replaced by government-provided health insurance?</para></question></general-problem>
<general-problem id="ch11ps01gen008" label="8" maxpoints="1"><inst>
8.
</inst><question id="ch11ps01q008"><para>Suppose a household does not carry health insurance. Can we conclude that this reflects failure of insurance markets? Why or why not?</para></question></general-problem></problemset><problemset id="ch11ps02" role="qonly">
<supertitle id="ch11ps02.supertitle">Exercises</supertitle>
<general-problem id="ch11ps02gen001" label="1" maxpoints="1"><inst>
1.
</inst><question id="ch11ps02q001"><para>Using <link linkend="fg11_00100" preference="0" type="backward">Figure <xref linkend="fg11_00100" label="11-1"><inst>11-1</inst></xref></link>, illustrate the probability that someone will obtain insurance for treatment for</para>
<orderedlist numeration="loweralpha" spacing="normal" inheritnum="ignore" continuation="restarts"><listitem><para><inst>
(a)
</inst>A hangnail</para></listitem>
<listitem><para><inst>
(b)
</inst>A broken arm</para></listitem>
<listitem><para><inst>
(c)
</inst>A “bad hair” day</para></listitem>
<listitem><para><inst>
(d)
</inst>Viral meningitis</para></listitem></orderedlist></question></general-problem>
<general-problem id="ch11ps02gen002" label="2" maxpoints="1"><inst>
2.
</inst><question id="ch11ps02q002"><para>Using <link linkend="fg11_00200" preference="0" type="backward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link>:</para>
<orderedlist numeration="loweralpha" spacing="normal" inheritnum="ignore" continuation="restarts"><listitem><para><inst>
(a)
</inst>Calculate an initial labor market equilibrium (wages and employment) determined by the demand and supply of labor.</para></listitem>
<listitem><para><inst>
(b)
</inst>Indicate the wage and employment impacts of a health insurance policy that costs $2 per hour to employers and is worth $1.50 per hour to the workers.</para></listitem>
<general-problem id="ch11ps02gen002" label="2" maxpoints="1"><inst>
3.
</inst><question id="ch11ps02q002"><para>Using <link linkend="fg11_00200" preference="0" type="backward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link>:</para>
<orderedlist numeration="loweralpha" spacing="normal" inheritnum="ignore" continuation="restarts"><listitem><para><inst>
(a)
</inst>Calculate an initial labor market equilibrium (wages and employment) determined by the demand and supply of labor.</para></listitem>
<listitem><para><inst>
(b)
</inst>Indicate the wage and employment impacts of a health insurance policy that costs $1.50 per hour to employers and is worth $2 per hour to the workers.</para></listitem></orderedlist></question></general-problem>
<general-problem id="ch11ps02gen003" label="3" maxpoints="1"><inst>
4.
</inst><question id="ch11ps02q003"><para>Using <link linkend="fg11_00200" preference="0" type="backward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link>, consider an insurance policy that provides free “purple aspirin” to all workers. This benefit provides no conceivable advantage (workers don’t care whether their aspirin is purple or white) but comes with cost <emphasis>z.</emphasis> Show the new labor market equilibrium indicating the wage and employment impacts.</para></question></general-problem>
<general-problem id="ch11ps02gen004" label="4" maxpoints="1"><inst>
5.
</inst><question id="ch11ps02q004"><para>Using <link linkend="fg11_00200" preference="0" type="backward">Figure <xref linkend="fg11_00200" label="11-2"><inst>11-2</inst></xref></link>, indicate the wage and employment impacts of a health insurance policy that costs $2 per hour to the workers and is worth exactly $3 per hour to the workers. Why do your answers to exercises 2 through 5 differ?
 6. Consider a difference-in-difference model of job lock.  The research finds the following probabilities:

	<informaltable id="informaltable0" frame="none" float="0"><tgroup cols="3" colsep="0" rowsep="0" align="left"><colspec colnum="1" colname="c1" align="left" colwidth="150"/><colspec colnum="2" colname="c2" align="left" colwidth="150"/><colspec colnum="3" colname="c3" align="left" colwidth="150"/><spanspec spanname="s1" namest="c1" nameend="c3" align="left"/><spanspec spanname="s2" namest="c2" nameend="c3" align="left"/><tbody><row><entry spanname="s1" valign="top"><para><emphasis role="strong">The Probability of Changing Jobs</emphasis></para></entry></row>

	
	<row><entry><para> </para></entry><entry spanname="s2" valign="top"><para><emphasis role="strong">Employer-Provided Health Insurance</emphasis></para></entry></row>

	<row><entry><para> </para></entry>
	<entry valign="top"><para><emphasis role="strong">No</emphasis></para></entry>
	<entry valign="top"><para><emphasis role="strong">Yes</emphasis></para></entry></row>

	<row><entry valign="top"><para>No other health insurance</para></entry>
	0.15<entry valign="top"><para><emphasis>0.1</emphasis></para></entry>
	0.10<entry valign="top"><para><emphasis>0.1</emphasis></para></entry></row>

	<row><entry valign="top"><para>Other health insurance</para></entry>
	0.25<entry valign="top"><para><emphasis>0.25</emphasis></para></entry>
	0.24<entry valign="top"><para><emphasis>0.3</emphasis></para></entry></row></tbody></tgroup></informaltable>



(a) Interpret each element of this matrix in terms of the probability of changing jobs.

(b) Does the presence of alternative insurance mitigate job lock?  Explain your answer.

(c) Does the difference-in-difference calculation validate the larger impact of “other insurance” found by Madrian?  Why or why not?

<general-problem id="ch11ps02gen005" label="5" maxpoints="1"><inst>
7.
</inst><question id="ch11ps02q005"><para>Consider the market labor demand <emphasis>L<subscript><inst></inst>D<inst></inst></subscript></emphasis> and labor supply <emphasis>L<subscript><inst></inst>S<inst></inst></subscript></emphasis>, where <emphasis>W</emphasis> is the market wage.</para>
<informalequation id="ch11if04"><mediaobject float="0"><textobject role="textequation"><para>Demand: <emphasis>L<subscript><inst></inst>D<inst></inst></subscript></emphasis> = 1,000  20<emphasis>W</emphasis></para></textobject></mediaobject></informalequation>

<informalequation id="ch11if05"><mediaobject float="0"><textobject role="textequation"><para>Supply: <emphasis>L<subscript><inst></inst>S<inst></inst></subscript></emphasis> = 200  400<emphasis>W</emphasis></para></textobject></mediaobject></informalequation>
<orderedlist numeration="loweralpha" spacing="normal" inheritnum="ignore" continuation="restarts"><listitem><para><inst>
(a)
</inst>What is the equilibrium market wage? What is the equilibrium employment level?</para></listitem>
<listitem><para><inst>
(b)
</inst>Calculate the equilibrium market wage and employment level if the workers negotiate a benefit worth $1 that costs the employers $2.</para></listitem>
<listitem><para><inst>
(c)
</inst>Calculate the equilibrium market wage and employment level if the workers negotiate a benefit worth $2 that costs the employers $1.</para></listitem></orderedlist></question></general-problem>
<general-problem id="ch11ps02gen006" label="6" maxpoints="1"><inst>
8.
</inst><question id="ch11ps02q006"><para>Consider two workers, Ralph and Steve. Both of them work for the same employer, and each earns $15 per hour. Steve is taxed at the 15 percent marginal rate. However, Ralph is married, and due to his wife’s income, he is taxed at the 28 percent marginal rate. Using <link linkend="fg11_00300" preference="0" type="backward">Figure <xref linkend="fg11_00300" label="11-3"><inst>11-3</inst></xref></link>, indicate which one would be expected to seek more health insurance and why.</para></question></general-problem>
<general-problem id="ch11ps02gen007" label="7" maxpoints="1"><inst>
9.
</inst><question id="ch11ps02q007"><para>Suppose that Charlie’s Pizzeria in Kalamazoo, Michigan, employs 10 employees at a wage level of $9 per person. All other costs (ovens, rent, advertising, return to capital) total $50 per hour, and the pizzeria sells 15 pizzas per hour at a cost of $10 per pizza. Suppose there is mandated coverage that can only be covered at a cost of $1.50 per hour, if it is offered at all. Charlie finds that if he offers insurance, he could maintain production by letting one worker go and running his pizza ovens a little hotter, leading to costs of $55 per hour.</para>
<orderedlist numeration="loweralpha" spacing="normal" inheritnum="ignore" continuation="restarts"><listitem><para><inst>
(a)
</inst>What are Charlie’s original profits?</para></listitem>
<listitem><para><inst>
(b)
</inst>What is Charlie’s elasticity of demand for labor? How is this calculated?</para></listitem>
<listitem><para><inst>
(c)
</inst>What will happen to Charlie’s profits in the short run if he chooses to pay for mandated insurance?</para></listitem>
<listitem><para><inst>
(d)
</inst>What will Charlie’s long-run decision be? Why?</para></listitem></orderedlist></question></general-problem>
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Figure 11-6 – Quarterly Uninsured Rate for the Nonelderly Population
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Figure 11-7 – Characteristics of the Nonelderly Uninsured, 2014
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